Mathematics – Grade 8

Curriculum Development and School Improvement- Secondary

MA.8.A.1.3 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. The admission fee to a small carnival is $1.50 for children and $4.00 for adults.  On Friday, 2,200 people enter the carnival and $5,050 was collected.  The equations and graph below can be used to determine the number of children and adults that attended on carnival on Friday.
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How many children attended the carnival on Friday?

A.  700
B.  900
C. 1,200 

D. 1,500

2. What is the solution of the system of equations below? 
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3. A local surf shop started the week with 3 pairs of board shorts and 6 pairs of sun glasses.  Each day, the shop receives 2 new pairs of board shorts and 1 new pair of sun glasses.  Using the graph below, on which day is the total number of board shorts and sun glasses the same?
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A.  Day 1

B.  Day 2
C.  Day 3

D.  Day 4
4. Mr. Curry showed his 8th grade math class the following graph.
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What is the number of solutions of this system?  

5. What is the 
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coordinate of the solution of the systems of equations graphed below?
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